BHBERR

BN EMR EHET A

(BORITA —— ERTT BRE )R B (74 5])

EE T A - B R RS A R H]

ey Aok - 981

EAZHHA : 20184 10 H 25 H

KL T2 T AT TR BB TR (B8 o K ST AR Algg 2 L Al) ( (LLiivghl) ) 35 13.25A IFTFH 176 » wiREZ B -

KL 78 TASEIEIRR 7 TR IR (L i77#A)) 25 10.06(4)(a) 15/ F L 1eaE » RIJNREEZE N S -

RaarlE ¢ HERE
1.
E TR A B (%
{THIHIE 5(/— B — > ok — P [NEUNVA
ﬁﬁ%ﬁtﬁ(ii?i{g%ig OREETE GE 1 R | E—(EEE SR | ST ER T ENT#E R
TRy GE6 K2 7) ie4nE 4= | ] H{E GES) EiEE(E i) GET)
FY NI H BABRAEI HY4E F
(£ 2) 5,053,547,081
2018 7 10 A 04 H
(5 3)
FATFHI F 1, 4 24 5] o SR T A 3,000 0.00006% HKD 1.7640 HKD 7.700 77.09% 7%
2004 DA BT #(% 2004 4= 3 J1 10 1,400,000 0.02770% HKD 4.5500 HKD 7.700 40.91% 3%
FIJE PR 4A) P 15 - 1) IBOHEE T 21 7 F) 1,800 0.00004% HKD 5.6200 HKD 7.700 27.01% #r3%
WA 2018 4F 10 H 9 H
(GEe))
FATRHI F 1], 4 2 4 B o SR T A 2,400 0.00005% HKD 1.7640 HKD 7.790 77.36% 7%

2004 DLER I HERT #I(F> 2004 4F- 3 H 10
H SR AN) BT 42 T I R B R 5 17 100
W By 2018 4210 H 10 H




B ER ETET A

GE3)

AR H B AEAR A 7] s FH R T AR 5
2004 DLRB BEHEST & (> 2004 4 3 H 10
H 8 BR40) BT 452 5 10 58 RO REE T 2 £ 7 1) 3
W 2018 4F 10 A 12 H

15,000

0.00030%

HKD 2.7000

HKD 6.920

60.98% J/1:%

GE3)

AT H A JEA A 7] FH R TR
2004 DLRB BEHEST & (> 2004 4 3 H 10
8 BR A1) BT 452 - 1 578 RO REE T 2 £ 7 ) 3
W 2018 4F 10 H 19 H

100,000

0.00198%

HKD 2.7000

HKD 6.760

60.06% #T:%

GE3)

AT H A JEA A 7] FH R TR
2014 DIGRREFERT#I (7% 2013 47 6 H 13
8 BR A1) BT 452 - 0 58 RO REE T 2 £ 7 ) 3
WA 2018 4 10 H 19 H

114,583

0.00227%

HKD 6.4200

HKD 6.760

5.03% #T:%

£ 3)

AT AIH A AEA A ] EFH R TR
2004 DARR I HERT# (A 2004 4F- 3 H 10
H 8 ER4N) BT 52 T 1 R B R 1T 95 £ 7 10
WG 2018 47 10 H 22 H

2,400

0.00005%

HKD 1.7640

HKD 6.680

73.59% JT:E

(£ 3)

AR IH A AEA A 7 R TR
2014 DLERIERERT#I (7 2013 47 6 H 13
H 8 ER AN BT 52 - O R I R 1T 95 £ 7 1)
WAy 2018 4F- 10 H 22 H

16,333

0.00032%

HKD 6.4200

HKD 6.680

3.89% &

(E3)

T E L AEAR A R E R TR B
2004 LLER R HERT #I(F> 2004 47 3 H 10
H R BR A1) BT 432 T B AR IR T 517 13
AR 2018 4 10 H 23 H

1,200

0.00002%

HKD 1.7640

HKD 6.830

74.17% 7%




BN EMR ETET A

(E3)

AR H B AEAR A 7] s FH R T AR 5
2004 DARRIEHERT (% 2004 4F- 3 7 10
H 8 ER4M) BT 452 3 10 5 RO REE T 4 £ 7 1) 3
WA 2018 4F 10 H 25 H

2,400
2,598,753

(£ 3)
1F 2018 4F 10 H 25 HEE$4A 2018 4 9
H 27 HA12018 4% 10 A 4 H &R

(18,941,000)

AN S RS A4S 17
(3£ 8)
2018 “F 10 4 25 H

5,038,863,950

0.00005%
0.05142%

HKD 2.7000
HKD 4.5500

HKD 6.230
HKD 6.230

56.66% 138
26.97% T:E




BN ER ETET A

| BBEFE -

1.

2.

3.

FERR T B LB — R SR T TIE R TT » JHPE B NITE AT TIH
SHHELRIE (LLATHIAY) 55 13.25A (TR L —17 T BHHREEHRZ ) ZofRIE (LLTTHRY) 55 13.25B (TR L—17 " HERE ) (LUBREE ) 1947 Y -

FHIVLITAANRE (LiTTHA) 55 13.25A [FIEEERTE R TR ZES) - 2B A R T A - BRI RS - LT B - LU E AT LR T ALY " H
S ) PIGIE AR » BIR © N 2 KR o] — R (T HTE 1 7 T IR (7 T2 22 K PRI ] — o] PR AR B AR T TR Tl 5 KB THIIR [ RS R AT B E I — 1) 5
BE o T > EITRIE HRIR (T HTTE S 1211 T 1T (7 FI I 2R A5 AR ] PR T A T TR T ZE T THY R 1T+ R AR 7 IR R 7

TERTH_LTTRTT A ER TR ZBIIET 7 EERF - fFS LI L T8 T AL SRR F— - T P E 2 THEAAEER (BLUE H A9 =1 B8 A 1 5 (] (5 ] Rt 28
1R + 2R P B EZ BT R B R ) 2 T B R ) I -

HLEHRITAAIR G EFEE » Al T _L—(E5F TR TTE ) [EEERETS | R (7 (Far e B EHT S5 H & XAV T -

KR LT -
 TRITRG ) RS ARG R
T ERTRIEE R G R TR P A CR TR L EEERER T EREEIR 15 A R R BT B A R TR ET 7 -

HWEER LT

~ TRITRG ) EEERER ARG R

T ERTRIIEH R R THIHIE A ER TR ET L ) EEERER | CAEEIR 7 1 B IR (B [alFTH B A R TR -
“ ERETIE ) JEREER RS,

HIRERE 7 H A B 18— R BT BT A



BN ER ETET A

A TEEERE
B fiEolsE 7 E E fial 7 = ey g liNf=
(1) = () oo)
R REM REM R R
&t
B. A G FT Ry — R AT S T AR H A R

ARENESKRIE (B EEIRFEBE ) /£ 55 AR g H

2. H ek 2 i H L URAE B G il [m] Y RE 2R 3 A A e 2 AR 38 T TR 1 73
tb

=

((a)x100)
ES THREA

WD » ESCABTRT S B A B AT THIRE 2 AR (EAiRAl) rURE#ErT » IMEERER S A

Tt AEEH
Oo)

@ __ Azl
A %

E’J L B B FTs EDIT f

(ETEREE) o TFIUNES - ESCABFTICH 59— 5E 77 X AP THVIB RO G E) - (S RI & A RHAEZ 5 5 Pl AR e R AR I

\| ZBEEFE - Bt VIR PR GAT ~ 27— RKad K G GVHKZPTEH) » LA L A B2 E o T 77T

A = 7K fe
(#E4)

it LleVANGIL IS
(EE -~ WENAMEEAZENIAS)




